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T(RANS)FO(RMMIOCN? Of SINE AND

COSINE
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*  What effect does changing the value of 7 in y = # sin x have on the graph of the function?
I.e. draw and compare y =sin x, y = 2 sin x, y = 3 sin x, y = -2 sin x etc. and try to write a general
statement regarding the effect altering # has on the graph of y =z sin .

* Similarly investigate changing the value of # in y =  sin (bx), for 4 > 0.

Le. for some fixed value of 4, say 1, compare graphs of y = 1 sin x,y = 1 sin 2x, y = 1 sin 3x,

y=1sin 4x etc. and try to write a general statement regarding the effect altering 4 has on

the graph of y = z sin bx.

* Similarly investigate changing the value of ¢ in

and

y=asin [b(x - c)]

d in y=asin [blx-c)] +d.

* Similarly investigate the cosine and tangent functions.

= sin (bx-c)+d
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